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I, , agree to neither give nor receive any help on this exam
from other students. Furthermore, | understand that use of a calculator on this exam is an
academic misconduct violation. I also understand that failure to cover my answers is academic
misconduct: it is important that | maintain the integrity of my work and that | do not make it
available to other students.

Signed

Part I. Binary Choice Questions (9 questions each worth 2 points = 18 points)

1. Consider the market for apples, where the magnitude of the slope of the demand curve is
5 times smaller than the magnitude of the slope of the supply curve. When the
government imposes an excise tax on producers, which of the following statements is
true?

a. The consumer tax incidence is bigger than the producer tax incidence.
b. The producer tax incidence is bigger than the consumer tax incidence.

2. In the year 2000, the real and nominal prices of a new bicycle are equal. Suppose that in
this economy there is deflation in the next period. Assuming that year 2000 is the base
year and that the nominal price of a bicycle after this deflation does not change from its
original level in 2000, which of the following statements is true?

a. Real Price of a bicycle in the next period > Nominal Price of a bicycle in the next
period

b. Nominal Price of a bicycle in the next period > Real Price of a bicycle in the next
period

3. Consider the yogurt market in a small economy. When the economy is closed to trade,
the domestic equilibrium price is $0.50 per ounce of yogurt. If the world price for yogurt
is $1 per ounce of yogurt, who will benefit from opening this small economy’s yogurt
market to international trade?

a. Domestic producers
b. Domestic consumers



4. When Jennie’s monthly income is $100, she spends 10% of her income on coffee and when
her income increases to $200, she reduces her spending on coffee to 6% of her income.
Given this information and holding everything else constant, Jennie’s income elasticity of
demand for coffee is (Use the standard percentage change formula when you
calculate this income elasticity), and coffee is a/an good for Jennie. For this
problem assume that the price of coffee as well as the prices of all other goods stay constant.

a. -0.4; inferior
b. 0.2; normal

5. For this question assume that the food truck market in Madison is perfectly competitive.
After graduating with a business degree from the University of Wisconsin - Madison,
Melissa decides to pursue her dream of opening a vegan burger food truck. Being an
outstanding student, she was able to pay the fixed cost for the truck using money from an
award she won during her senior year. After her first few months of business, she
observes that at her profit maximizing level of output AVC < MC < ATC. Given this
information and holding everything else constant, should Melissa shut down in the short
run?

a. Melissa should not shut down.
b. Melissa should shut down — Madisonians like meat!

6. Holding everything else constant, the less elastic the demand for a good is, the greater the
revenue increase from:

a. anincrease in the price of that good.
b. adecrease in the price of that good.



7. Nick chooses to consume a bundle of two goods: (Pizza, Soda) = (10, 6). Following an
increase in his salary, he consumes a new bundle (8,8). Given this information and
holding everything else constant, which good is inferior?

a. Pizza
b. Soda

8. The demand for electricity is less elastic than the demand for cruise vacations. Which
market is more likely to generate smaller amounts of deadweight loss in the presence of
an excise tax of an equivalent amount per unit of the good?

a. The market for electricity
b. The market for cruise vacations

9. Suppose when the market for comic books in a small economy, country A, opens to
international trade, domestic producer surplus increases by $600 and domestic consumer
surplus decreases by $300. Then we can infer that the world price is than the initial
domestic price of comic books and the gains of country A from opening this market to
international trade are

a. lower; $900
b. higher; $300
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Part 1. Multiple Choice Questions (20 questions each worth 4 points = 80 points)

10. Samsung and Apple are competitors in the smartphone market. Suppose that Samsung
decreases its prices. Which of the following could Apple use to predict the effect of this
price change on the quantity demanded of Apple smartphones? Apple could use:

a.

b.

The elasticity of demand for Samsung smartphones with respect to the price of the
Samsung smartphone.

The cross-price elasticity of demand for Apple smartphones and the price of
Samsung smartphones.

The income elasticity of demand for Apple smartphones.

The elasticity of supply of Apple smartphones with respect to the price of the
Apple smartphone.

11. A perfectly competitive firm is producing a non-zero quantity when the firm is operating
at its long-run equilibrium. Which of the following conditions does NOT have to be true?

o0 o

Price = Marginal cost

Price = Short run average total cost
Price = Short run average variable cost
Price = Marginal revenue

12. April earns an income of $21 per day and spends it on two goods, hamburgers and apples.
The price of a hamburger is $6, and the price of an apple is $3. Her marginal utility for
consuming hamburgers and apples per day are listed in the table below:

Quantity of MU Quantity of MU Apples
Hamburgers/Day | Hamburgers | Apples/Day

1 10 1 14

2 8 2 9

3 5 3 4

4 2 4 1

5 1 5 1/3

Given this information and holding everything else constant, which of the following
bundles of hamburgers and apples per day is optimal for April to consume?

oo o

3 hamburgers; 1 apple
1 hamburger; 5 apples
2 hamburgers; 3 apples
5 hamburgers; 4 apples
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Use the following information to answer the next THREE (3) questions.

Disappointed with the lack of excitement in the PhD program, Jon is thinking of starting a
business on the side selling pocket squares. Suppose the market for pocket squares is perfectly
competitive, and the market demand for pocket squares is given by the following equation,
where P is the price per pocket square and Q is the quantity of pocket squares:

Market Demand: P = 208 — 2Q

Suppliers of pocket squares are all identical, and each firm has the following cost structure,
where q is the quantity of pocket squares produced by a single firm:

Total Cost Equation for a representative firm: TC = 2¢% + 8
Marginal Cost Equation for a representative firm: MC = 4q

13. If Jon is producing at the minimum-cost output level, which two cost curves are
intersecting?

MC and ATC
ATC and AVC
AVC and MC
MC and AFC

oo o

14. Given this information and holding everything else constant, in the long run what must be
true about the price Jon charges for his product?

The price per pocket square must be equal to $0.
The price per pocket square must be equal to $2.
The price per pocket square must be equal to $4.
The price per pocket square must be equal to $8.

oo oe

15. Assume that Jon is not currently producing pocket squares. Furthermore assume that the
market supply curve is linear. Given this information and holding everything else
constant, which of the following statements is correct?

a. Jon should not enter the market in the long run if there are currently 24 firms; Jon
should enter the market in the long run if there are currently 50 firms.

b. Jon should enter the market in the long run if there are currently 24 firms; Jon
should not enter the market in the long run if there are currently 50 firms.

c. Jon should not enter the market in the long run if there are currently 24 firms; Jon
should not enter the market in the long run if there are currently 50 firms.

d. Jon should enter the market in the long run if there are currently 24 firms; Jon
should enter the market in the long run if there are currently 50 firms.
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Use the following information to answer the next TWO (2) questions.

Consider the market for crystal cups. The market demand and market supply curves are
represented by the following equations, where Q is quantity of crystal cups and P is the price in

dollars:

Market Demand: Q =100 P
Market Supply: 3Q =P - 20

Suppose that the government imposes an excise tax on the producers of crystal cups.

16.

17.

Suppose the government wishes to impose an excise tax in this market such that after the
tax the consumption level is 15 crystal cups. Given this information and holding
everything else constant, how much will the excise tax be in order for the government to
reach its goal?

a. $20 per unit
b. $15 per unit
c. $10 per unit
d. $5 per unit

Now suppose that government imposes an excise tax of $40 per unit sold. Given this
information and holding everything else constant, how many of the following statements
are true?

e After the implementation of this excise tax, the price consumers pay is now $90 per
crystal cup.

e With the implementation of this excise tax, the government generates tax revenue of
$300.

e The producer tax incidence, given the implementation of this excise tax, is $200.

All statements are false.
1 statement is true.

2 statements are true.

3 statements are true.

o0 o

11
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18. Consider the perfectly competitive market for lamps. Market demand is given by the
following equation, where Q is the market quantity and P is the market price:

Market Demand: P =95 -Q

All firms that produce lamps are identical with the same cost curves in this market. The
equations for these cost curves for a representative firm are as follows where q is the
quantity of lamps produced by a single firm:

Total Cost Equation for a representative firm: TC = 100 + 25q + ¢?
Marginal Cost Equation for a representative firm: MC = 25 + 2q

Given the information above and holding everything else constant, when the lamp market
is in long run equilibrium, the price will be , and there will be firms in this
market.

$35; 6
$40; 5
$45; 5
$50; 4

o0 o

19. Suppose Ron’s income is $120 and he consumes two goods, biscuits (B) and fruit (F).
When the price of a biscuit is Ps = $2 and the price of a piece of fruit is Pr = $4, Ron’s
optimal consumption bundle is F = 20, B = 20. You are told that if the price of biscuits
rises to $6 per biscuit, then holding everything else constant, Ron’s optimal consumption
of fruit is 15 pieces. You are told that Ron’s demand curve for biscuits is linear. Given
this information and holding everything else constant, what is the equation for Ron’s
demand curve for biscuits?

a. Pe=10-(5/2)B
b. Ps=10-(2/5)B
c. Pe=6-(1/5B
d. Pe=8_(1/5)B

13
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Use the following information to answer the next TWO (2) questions.

Consider the market for pumpkins on a small island. Where P is price per pound of pumpkins (in
dollars), and Q is the quantity of pumpkins (in pounds), the domestic demand and domestic
supply curves are represented by the following equations:

Domestic Demand: P =40 - 2Q
Domestic Supply: P =2Q

Assume that the world price of pumpkins is $10 per pound.

20. Suppose the island opens its pumpkin market to international trade, but imposes a tariff
of $2 per pound of pumpkins. Which of the following statements is NOT true?

a. By opening this market and simultaneously imposing the above tariff, the
domestic price of a pound of pumpkins falls on this island relative to the price of a
pound of pumpkins when this market is closed to trade.

b. The government revenue from this tariff is $16.

c. The domestic producers on this island produce 6 pounds of pumpkins with the
implementation of this tariff.

d. The domestic consumers consume 10 pounds of pumpkins given the
implementation of this tariff.

21. What is the value of domestic producer surplus with the implementation of the tariff
described in the previous question?

a. $100
b. $64
c. $36
d. $25

15
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22. Consider the market for keyboards where the initial equilibrium price is $40 per keyboard
and the equilibrium quantity is 80 keyboards. We know that when the price increases to
$60, the quantity demanded will decrease by 50% and the quantity supplied will increase
by 25%. Given this information and holding everything else constant, then using the
standard percentage change formula, the price elasticity of demand is ; using the
arc elasticity formula, the price elasticity of supply is

1;1/2
1; 5/9
3/2; 112
3/2; 9/5

o0 o

23. Consider the hypothetical budget line that we draw parallel to the new budget line such
that it is just tangent to the original indifference curve. In the graph below, this is the
dashed line that intersects U1 at point C.

Quantity of good Y

Quantity of good X

Which of the following statements is true: This dashed line represents:

a. the imaginary budget constraint based on the initial price ratio, compensated for
the consumer’s new purchasing power due to the change in the price of good X.

b. the imaginary budget constraint that illustrates the change in consumption of good
X that occurs given the new price ratio.

c. the imaginary budget constraint based on the new price ratio, where the
consumer’s income is adjusted to reflect the change in their purchasing power due
to the change in the price of good X.

d. the imaginary budget constraint that represents the consumer’s true purchasing
power now that the price of good X has changed.

17
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Use the following information to answer the next TWO (2) questions.

Suppose the market basket is comprised of two apples (A), one basketball (B), four carpets (C),
and one diagram (D). The table below shows the nominal prices of these goods for three
different years:

Year Apples (A) Basketballs (B) | Carpets (C) Diagrams (D)
2000 $1 $2 $1 $2

2010 $0.50 $3 $2 $3

2020 $2 $5 $0.25 $10

24. The following are sets of real prices in 2010 dollars. The value in parentheses represents
the year. For example, B(2000) is the real price of a basketball in 2000. Which of the
following rankings is correct?

B(2000) > C(2010)
A(2010) > D(2020)
D(2010) > B(2020)
C(2000) > B(2010)

oo o

25. Suppose you are asked to calculate the percentage change in the real price of carpets from
2000 to 2010 using three different methods:

I.  Use the market basket given above and 2010 as the base year.
Il.  Use a market basket of 4 apples, 1 basketball, 2 carpets, and 1 diagram
and 2010 as the base year.
1. Use a market basket of 4 apples, 1 basketball, 2 carpets, and 1 diagram
and 2000 as the base year.

Which of the following statements is true? The result you get from Statement:

a. |isthe same as the result you get from Statement I1, but different from the result
you get from Statement I1I.

b. | is different from the result you get from Statements Il and I1I.

| is the same as the result you get from Statements Il and I11.

d. 1is different from the result you get from Statement I, but the same as the result
you get from Statement I1II.

o

19
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Use the following information to answer the next TWO (2) questions.

In UW-land, a small economy, the domestic demand and domestic supply of pineapples are
given by the following demand and supply equations where Q is the number of pineapples and P
is the price per pineapple measured in dollars:

Domestic demand: Q = 220 — 20P
Domestic supply: Q= 10P — 20

Furthermore, you know this market is open to international trade and the world price of $4 per
pineapple.

26. Suppose now the government implements an import quota of 60 pineapples. Given this
information and holding everything else constant, what would the license holder revenue
be under this import quota?

$120
$60
$180
$90

o0 ow

27. Given the above information and holding everything else constant, which of the
following statements is true?

a. The value of domestic consumer surplus when this pineapple market is closed to
trade is larger than the value of domestic consumer surplus when this import
quota is implemented.

b. The value of domestic producer surplus when this pineapple market is closed to
trade is smaller than the value of domestic producer surplus when this import
quota is implemented.

c. If the government replaces this import quota with a tariff of $2, the price of a
pineapple will remain the same as it is with the import quota policy.

d. License holders would prefer an import quota of 30 pineapples.

21
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28.

29.

Suppose you are told that the demand curve for candy is linear and downward sloping.
Furthermore, you are told that the revenue-maximizing price of candy is $5 and the demand
for candy at that price is 10. Given this information and holding everything else constant,
which of the following statements is false?

The price elasticity of demand at the revenue maximizing price is equal to 1.
When price increases from $6 to $7, total revenue will decrease.

The demand curve for candy isQ = 15— P

There is a price below $5 such that the total revenue at that price is the same as the
total revenue when price is $6.

oo oTe

A hypothetical consumer has $60 and consumes candy (C) and doughnuts (D). The price
of candy is $5 per unit of candy and the price of doughnuts is $6 per unit of doughnuts.
The consumer’s utility function is given by the following equation where C is units of
candy and D is units of doughnuts:

U=CD
We can write their marginal utilities as follows:

MUc =D
MUp=C

Now, consider that the price of candy increases to $10 per unit of candy. As a result of
this change in the price of candy, which of the following statements is TRUE?

e Initially, when the price of candy is $5 per unit of candy, this consumer
maximizes their utility when they consume (C, D) = (6, 5).

e The total change in consumption of candy due to the change in the price of candy
is a decrease of 3 units of candy.

e From the provided information we can conclude that doughnuts are an inferior
good and candy is a normal good.

e For this individual to have the same level of satisfaction as they had initially while
paying the new prices they would need to be compensated with a positive amount
of income.

All of these statements are true.
One of these statements is true.
Two of these statements are true.
Three of these statements are true.

oo o
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END OF EXAM. THANK YOU!

DO NOT REMOVE THIS SHEET!!!
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